



اسم: _____

التاريخ: _____ النتيجة _____

$$(-6)^0 + (-3) =$$

$$8^0 - 3 =$$

$$(-4)^0 + 6 =$$

$$10^{(-2)} - (-7) =$$

$$(-6)^2 - 1 =$$

$$3^2 + 6 =$$

$$6^{(-2)} + (-9) =$$

$$(-9)^{(-2)} - 6 =$$

$$(-4)^{(-1)} - 1 =$$

$$6^2 + 8 =$$

$$2^2 + 9 =$$

$$10^2 - (-2) =$$

$$3^2 - 5 =$$

$$3^{(-1)} - 5 =$$

$$(-6)^2 - 4 =$$

$$(-5) + (-5) =$$

$$1^{(-2)} + (-10) =$$

$$9^{(-1)} + (-3) =$$

$$2^0 - 5 =$$

$$6^2 - (-9) =$$



اسم: _____

تاريخ: _____ النتيجة _____

$$(-6)^0 + (-3) = (-2)$$

$$8^0 - 3 = (-2)$$

$$(-4)^0 + 6 = 7$$

$$10^{(-2)} - (-7) = \frac{701}{100} = 7\frac{1}{100}$$

$$(-6)^2 - 1 = 35$$

$$3^2 + 6 = 15$$

$$6^{(-2)} + (-9) = \left(-\frac{323}{36}\right) = \left(-8\frac{35}{36}\right)$$

$$(-9)^{(-2)} - 6 = \left(-\frac{485}{81}\right) = \left(-5\frac{80}{81}\right)$$

$$(-4)^{(-1)} - 1 = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$6^2 + 8 = 44$$

$$2^2 + 9 = 13$$

$$10^2 - (-2) = 102$$

$$3^2 - 5 = 4$$

$$3^{(-1)} - 5 = \left(-\frac{14}{3}\right) = \left(-4\frac{2}{3}\right)$$

$$(-6)^2 - 4 = 32$$

$$(-5) + (-5) = (-10)$$

$$1^{(-2)} + (-10) = (-9)$$

$$9^{(-1)} + (-3) = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$2^0 - 5 = (-4)$$

$$6^2 - (-9) = 45$$